2023%7H4R EERE 4R 33 3H/ALT

R 3533 5MLUT 100m A—F - & C &40, 14, 8, 5.2, 2.85M m”. }
= - K £ £ R 0:50.8 ﬂ#*u.%tiﬁﬁ%%z :534 1
YS5ILYFR IR 544 BF 0:50.6 L—25yF Grant 4
g | PHEEY | EEMES T i 35 E AR TE=BMER B BHE (& B) Bt 217E=L— z% L—T427 952 37E=#IE BH-BE- AKX AN
B F | MEIMMEL (B £ho120% B 4 1000m [HTE=HKE - @K BF- -7 2, 3, 4AEBIEN STE=IEM - 2—X - BiHRE 244 EAYSF
fo! 22 | B 2 |snE®/FE|f 4T | s ¥ 1200 [647E=L—RR—ZHI3F - chfE - #%3F HEL, NFEH, S)EL\) Bk 3 Fi(h REGHR 25-b~4f - 3 ~4F - R3IF(5~1) LY 3 FIRM
% #® | BoOR) ME | £ % & | 100085 | =ik guﬁ;g}gggz L—REYBSFAALL - HBEDELYSFAAL > 0.5 DBERT MIE=1EBRE2EE (EE) 1. 2. 3SEROME
EE/RE BAvX | BEMMK | 6-8AMM| # FLFR| # 4 1700 Ak HiaE 35ERT AFERT 57E AT
FEYFS1Z7 3|8 B[ ... |®F0004|F 00032306200 & 7kiR 23.06.06 11 F 7GR [23.06.23 7 & ﬁm 23.05.09 9 ® W |23.04.25 1 & KR
EN R P BRR JA&0.0.00 | F=0001 | 3FmC2= 604 3% 3MC2= 3M407A 3% 3407 3%
54.0 .124 £4001.2 | Fm0.00.0 |6 55 2% 6A Vq 3 55 6% TA 10 1138 8&I0A m\ 12 1288 5%&120 9 1088 THEIOA 4
111 FENF 21 | #ER BB 1053@ | £40.0.0.4 750.0.0.0 | 436 -1 £5K%h 54 Q@O | 437 -6 5K 54 @@ | 443 +1 §5AKh 54 442 -6 $hR#h 54 @D | 448 +7 #hAKHE 54 (O]
(INRRTLY) SF .216[ BE 1053@ | E40.0.0.1 [ F£0.0.0.0 [ 1300m % B 1:27.4 43.0| 850m # B 0:54.5 38.6 | 1200m % B 1:21.0 42.3 | 1000m & & 1:05.3 39.7 | 850m # B 0:55.5 39.0
ElRE e [#]] 0.0.1.6 [ 0011 | 240016 | -©-® -@-@MH 37.7-37.9 421 (6 38.1 433 (4) 37.2-37.3 231 (10) 36.8 131 (12) 36.9 221 (9)
tHFE 0.0.0.0 | #05£02£080 | £ 0.0.0.0 | 158 00 14 b=t -(5.8)  #% A {94%47(0. 8) k% by p7H7 K2 (6.5) eSS | kY/45(4.2) HEE | M vy(3.5) Sk
BE] #3170 B - |®F0000|F 00002506197 F KR [2301.08 38 F 1FL3
FE— WA JA0.000 |F=0000|3FEC2H 02 HE
54.0 .253 A40.0.0.1 | FmE0.0.0.0 |8 93 9% 6A 15 1783 281N BR
A 2| A |75E7VR—L HiE | MER E40.0.0.0 | F750.0.0.0 | 482 +20 &A%k 54 ©®o 462 %) Bl 54 @GO
(FS%4%) HF 216 E40.0.00 | F£0.0.0.0 | 1300m & B 1:29.7 44.7 | 2000m ZC £ 2:05.7 37.2
STA%IE [#]] 0002 0.0.0.1 | 240001 | -®----- MHM 37.5-39.6 221 (9) | MMM 37.8-36.1 213 (13)
HiEx 0.0.0.0 | 305020580 | £ 0.0.0.1 | &158 0000 [ Y78/ (6.7) HFEE | TWE 753(2.6) ERE
T/ —A7 H3[ 12 A [®F 0017 | ¥ 0002 230618 12 F JKR |23.06.056 11 F JKR |23.05.22 15 & &M 23 0508 12 & ﬁ[ﬂ 23.04.23 11 * 7J<;‘R
IYhH>Y R AR JA0.000 | F=0015|HUMNLE c2 c2= c2 3mC2= c2 c2— 3mC 1=
-~ 56.0 .190 H400.08 | FrE0.0.0.1 |7 95 9% TA k4|8 1158 4% 6A 3 O 4% TA 11 1188 4B 1A 8 1188 1&IA BiW
kY 3 | a2] 185842757~ 25 | #EE BB 1058@ | £40.0.1.7 | F750.0.0.0 | 500 +9 #hK# 56 @@ | 491 -4 £hk#h 56 QO | 495 -2 FH#r5E 56 @® | 497 +4 RO 56 @A) | 493 +2 HHAFE 56 DO®
(FAUNR—hYkY—) £F 216 BB 10580 | B4 0.0.0.6 | FH£0.0.0.0 | 1300m & # 1:26.4 41.3 | 1300m &% B 1:27.1 41.0 | 1200m % B 1:16.5 38.6 | 1200m & & 1:16.8 38.5 | 1400m &% B 1:35.0 41.7
£ 3N [#]] 00115 %0003 |£%001.15|-®-®-@--|HIS 37.4-40.6 233 (5) [ MHS 37.7-40.6 223 (4) 36.6-39.6 245 (1) 36.3-37.7 133 (7) | SSM 38.9-40.9 243 (5)
WARE 0.0.0.6 | #02£0:£080 | £% 0.0.0.0 | 18 001 12| 392" 774F0(2.2) KL | UV AQ2.T) Sk | 537 M5 4(0.3) SexE | VI71717)-(2.8) FEE | 1979000y (2. 6) FffE
F—t>5— 3|20 B[ O:::: |®F0001 |F 000023061815 F KR |23.0605 12 F 7)<,R 23.05.22 @ | 23.04.15 32 & I1fa&=3 | 23.02.04 38 ¥ 1/
EVFFILR RAFBE J&0.0.03 | F=000.1 | GUADE c2 3mC c2_ C2 | KEEF *x
<7 54.0 .156 A%0012 | Fm0o001 [ 3 9m 7&2A s |4 113 6% 4A 6 988 6% 1A 13 1688 4F14A i [ 11 133 TEIBA
(N 4|0 | wrLF54 5k | mT E40.0.0.3 | F750.0.00 | 439 -3 #EZ 54 @@ | 442 +5 # LB 54 QO@ | 437 +1 L&A 54 @@ 436 -2 BEE 54 438 0 pHE 52 BR@
(FPURRTOHI) EF 165 FEA0.0.0.0 [ FH0.00.1 | 1300m & # 1:24.8 41.0 [ 1300m 4 B 1:26.3 42.1 | 1200m % B 1:17.2 40.3 | 1800m A B 1:53.2 39.2 | 1800m ZA B 1:49.4 37.1
FHREKS [%]1] 00110 | 20013 |£40015| -®-@-®--|HIS 37.4-40.6 533 (4 [ MHS 37.7-40.6 422 (8) 36.6-39.6 533 (7) | MMS 36.2-36.5 311 (14) | MMM 35.4-35.6 522 (12)
RS 0.0.0.0 | #0%0%0580 | £% 0.0.0.5 | 18 0013 [ $y3 77444(0.6) %% | #4970 2(1.9) SekE | 537 M5 L(1.0) FkE | 910047-(3.5) FkE | MM -1(1.8) FEkE
ARSR=—% #3170 T |BF0002 | F 000123061813 F AR [23.0606 10 F JAGR |23.0522 14 & ﬁh“ﬁ] 23°05.00 11 = GEm |23.04.25 9 =& KR
F—HIILY B JA0.000 | F20001 | RUNDE c2 3m6 0% 3k 3mC 340 3% 3405 3%
54.0 .308 £40007 | Fmo0.000 |4 988 1% 6A &M (5 788 4% 6A 4 938 9% 5A X% 6 128810% 9N 4 5 1088 1% 8A ®/A
5 TYYETIILY B | B2 BE 10260 | £40.0.0.2 [ F750.0.0.0 | 404 0 H#51& 54 QRQ) | 404 +6 FHE1L 54 @@ | 398 -4 E1B1& 54 DD | 402 +1 EHEI& 54 @@ | 401 +3 HIFIE 54 @B
(F—TRF7N—F) SF 31| BE 10260 | A 0.0.0.3 | F£0.0.0.0 | 1300m & # 1:25.7 40.7 | 850m 4 R 0:53.6 38.0 | 1200m & F 1:16.8 40.2 | 1000m 4 T 1:02.6 38.2| 850m & B 0:53.7 37.5
FRAESIE [%]] 0.0.0.9 [£ 0002 |£450009 | @ 5 -@ 6 HS 37.4-40.6 434 (3) 36.9 433 (6) 36.6-39.6 533 (6) 36.8 522 (8) 36.9 253 (5)
79700747 (E) 0.0.0 2058020580 | £ 0.0.0.0 | 158 0007 | +9a 77444 (1.5)  #Fese | Z9py +h' -(1.5) k% 557" W5 L (0. 6) gEEE | ®¥/975(.5) WEE | M UAD bkt
RAE9+—1J7 53| 11 F:::: | ®F0001 |F 000123061812 F KR 2306 0569 ¥ KR 23062213 & @M |2304.1212 F P/t‘ 23.03.15 14 & fois
TYFTUR BERR J50.000 [ F=001.6 | BUMADE 2 2 | 3mCc2— c2 |77.0 115.0 3%
- 54.0 .155 H40.0.0.2 | Fm0.0.00 |5 988 5% 8A 11 1188 § 8N B |7 1088 2% 6N W 12 128810% 8A 7} 11 1258 8% 9A
()l 6 = 7SN s 4V B | BFE E£40.0.1.9 | F550.0.0.0 474 -6 BERR 54 ®©DG | 480 +6 BRR 54 @O® | 474 +1 BRI 54 Q@ | 473 -1 HBH%E 54 DD | 480 +2 A#F% 54 DM
(FYRA v H—2Y) =F212| B 10416 | £40.0.0.0 [ F£0.0.0.0 | 1300m &% # 1:26.0 41.3 | 1300m % B 1:29.5 45.0 | 1200m % B 1:16.4 40.5 | 1200m &% B 1:22.7 45.3 | 1200m &% B 1:21.9 41.9
oIl gR— [%1]0.0.1.10 [ £ 0.0.0.2 | 2400110 | -®-@-@- - HIS 37.4-40.6 253 (5) | MHS 37.7-40.6 321 (11) 35.7-39.2 422 (9) | SSS 37.3-41.5 531 (12) | SSS 38.8-40.2 142 (9)
RS 0.0.0.3 | 05020580 | £% 0.0.0.0 | 18 0003 [ $y2 7744 (1.8) %% | $)70 2 (5.1) Sk | 3/¥2341(1.5)  SkiBE | $9vhrh (3. 9) FEkse | /77 /93-(2.9) KRB
ERVAEE == 53| 26 ©: : :: |®Z0000 F 0000 23060611 ¥ AR [23.01.22 29 F 19uL8 |22 12.28 43 F 509
A RY -7 HER J&0002 | F¥=0002 | 3%60KF 3% | REF &
N 1 54.0 .287 A400.03 | FE0.000 |4 73 7E2A 4 |16 168EI0HFIOA 6 1688 4% TA W
170 | #n—zoFqs0y E | #EE X£40.0.0.0 7%0.0.0.0 [ 409 +1 #ER 54 2| 408 -4 KkHIE 53 DD | 412 %) S+ 51
(TY RRY4—F) EF 216 F40.0.00 | F£0.000 | 85m # B 0:54.5 38.9|1200m # B 1:15.4 39.6 | 1200m % B 1:14.8 39.8
NCEES [%]] 0003 [£0001 |£40003 ] - @ --- 38.1 443 (6) | MMM 34.3-38.3 132 (16) | MSM 34.8-38.5 532 (12)
i<t 0.0.0.1 | #05£0%0:80 | £ 0.0.0.0 | #38 000 1 [ A" {¥4%47(0.8) K J1{Ab 95-(2.8)  SEksE | 597 197(1.5) KER
F—trTa—5y 43 ]9 T :: | ®A0000|F 000023060611 F KR
S =—H A — EARG B 473-473 | U4 0.0.0.0 [ F= 0000 | 35605 3
~ - 540 .189| FF 54-54 | #&401.00 | FM0.0.00 | 2 73 5% 4A
8(8 VoA =—H— B |k 240000 | 750000 | 473 A% 54 23
(IS99 54F) EF 190 EEH0.00.0 | F£0.000 | 850m & B 0:54.2 38.6
38 ] [%]] 0.1.0.0 [ %0100 240100 -+ -@---- 38.1 523 (4)
MREE 0.1.0.0 | 305120580 | £ 0.0.0.0 | 358 00 0 0 [ A" {¥4¥47(0.5) k5
HYrI9590 #3 173 & B A E;o.ovc.o F 0.0.0.0 i%#)ég 30 & Amms
o =N, A odi ) JA 0000 | F=0000
L—=R37Jz4 54.0 146 50000 | Fmoooo |11 155 9F TA
8(9]|atl| 77vy—yszz B | R EH0.000 | F7/500.00 |422 %) LK 54 OO
(F2HHANAIN) EF 156 FEA0.0.0.0 [ F+0.00.0 | 1400m £B £ 1:26.3 34.6
Jia]::b Pl [#]] 0.0.0.1 RH0.000 | v SSM 37.9-34.0 323 (11)
AR 0.0.0.0 | 5%0502£0580 | £ 0.0.0.1 |tk 0000 | #3/474-4(1.3) ErE
B A — 1000miE 4 55 Atk (SEEHHAR : 2021.07.02~2023. 07.01) ERTE HEHSHENE
;302 EHESA HERS 17/ 2%F 3&F @5 BE ebopS %k %% 1 2 3 45 6 7 8
1 PIRTAT5R 53 16 12 4 2 0.302 0.528 F (37%&M=:E) 32 34 30 27 30 30 25 29
2 IAYYITvva 39 6 6 72 0.154 0.308 0 _____
3 4O 23 6 2 1 14 0.261 0.348 7 @
4 IREI—LIF— 18 6 0 2 10 0.333 0.333 B @00
5 A IASv— 19 5 6 0 8 0.263 o579 _ZIZ7_
6 rSoEUR 15 5 1 2 7 0.333 0. 400 q, ®
7 S5TU—F41 16 5 1 0o 10 0.313 0.375 =
8 xR A 10 5 0 1 4 0. 500 0.500 _____
9 RYTThA—Fr—K—F 39 4 9 323 0.103 0.333 ® o)
10 Foory/FeF 39 4 4 8§ 23 0.103 0.205 5 e
. N BLEHTH. YUADRKEHL, HERH, BFEEGLE, TR TERERTOHEREBALTTS,
20234 7H48 %M 4R 33 3FALT ¥>TJLvy FHR 3 1000m 54—k % KENSOWB, BEHERLET.



